AIPNALS_4EALA
=
o

[

0.5

o
o

UEILA40_LZA4E Y

-15

alphal3_4eX1X:cyclenum {run == 6118}

5523 5523.5 5524 5524.5 5525
cyclenum

delta46_12X4eY:cyclenum {run == 6118}

5523 55235 5524 5524.5 5525
cyclenum

-4

alpha4b_4ey4ay

-5

6120

5119.5

6119

5118.5

6118

5117.5

6117

5116.5

6116

alpha46_4eY4aY:cyclenum {run == 6118}

5523 5523.5 5524 5524.5 5525
cyclenum

run:cyclenum {run == 6118}

5523 5523.5 5524 5524.5 5525
cyclenum

deltal3_lzx4ex

o

|
e
o

-15

segment

25

15

05

deltal3_12X4eX:cyclenum {run == 6118}

5523 5523.5 5524 5524.5 5525
cyclenum

segment:cyclenum {run == 6118}

5523 5523.5 5524 5524.5 5525
cyclenum




USI_1A

usi_4ey

0.5

=

usl_1X:cyclenum {run == 6118}

P -
e e e eeeeamaenaaaaan .-

5523 5523.5 5524 5524.5 5525
cyclenum

usl_4eY:cyclenum {run == 6118}

5623 5623.5 5524 5524.5 5525

cyclenum

usl_say

usl_12x

[

0.5

[

0.5

usl_4aY:cyclenum {run == 6118}

5523 5523.5 5524 5524.5 5525
cyclenum

usl_12X:cyclenum {run == 6118}

5523 5523.5 5524 5524.5 5525

cyclenum

usl_sex

6120

5119.5

6119

5118.5

6118

5117.5

6117

5116.5

6116

usl_4eX:cyclenum {run == 6118}

[

5523 5523.5 5524 5524.5 5525
cyclenum

run:cyclenum {run == 6118}

5523 5523.5 5524 5524.5 5525

cyclenum



USI_L1A

usI_aey

usr_1X:cyclenum {run == 6118}

0.5

=

_..E ................... * ......................
AP B RPN B
5523 5523.5 5524 5524.5 5525
cyclenum

usr_4eY:cyclenum {run == 6118}

5623 5623.5 5524 5524.5 5525

cyclenum

usr_say

usr_12x

[

0.5

[

0.5

usr_4aY:cyclenum {run == 6118}

5523 5523.5 5524 5524.5 5525
cyclenum

usr_12X:cyclenum {run == 6118}

5523 5523.5 5524 5524.5 5525

cyclenum

usr_aex
=

6120

5119.5

6119

5118.5

6118

5117.5

6117

5116.5

6116

usr_4eX:cyclenum {run == 6118}

5523 5523.5 5524 5524.5 5525
cyclenum

run:cyclenum {run == 6118}

5525
cyclenum

5523 5523.5 5524 5524.5




8482.5

usl_coill:cyclenum {run == 6118}

18482

8481.5

18481

8480.5

5523 5523.5 5524 5524.5 5525
cyclenum

usl_coil6:cyclenum {run == 6118}

131.6

us1_vunu

314

31.2

31

30.8

30.6

30.4

30.2

30F

29.8F

29.6

5623 5623.5 5524 5524.5 5525

cyclenum

2929

2928.5

2928

2927.5

2927

usl_coil/

usl_coil3:cyclenum {run == 6118}

5523 5523.5 5524 5524.5 5525
cyclenum

usl_coil7:cyclenum {run == 6118}

5523 5523.5 5524 5524.5 5525

cyclenum

2764.5

2764

2763.5

2763

2762.5

6120

5119.5

6119

5118.5

6118

5117.5

6117

5116.5

6116

usl_coil4:cyclenum {run == 6118}

L
5525
cyclenum

1 |
5623 5623.5 5524 5524.5

run:cyclenum {run == 6118}

5523 5523.5 5524 5524.5 5525

cyclenum




15835

5835.5

15836

5836.5

15837

34

us1_vunu

335

33

325

32

usr_coill:cyclenum {run == 6118}

5623

5623.5 5524 55245 5525

cyclenum

usr_coil6:cyclenum {run == 6118}

5623

5623.5 5524 5524.5 5525

cyclenum

—-2656

2656.5

-2657

2657.5

—-2658

[

usr_coll/

0.5

usr_coil3:cyclenum {run == 6118}

5523 5523.5 5524 5524.5 5525
cyclenum

usr_coil7:cyclenum {run == 6118}

5523 5523.5 5524 5524.5 5525
cyclenum

3099.8

3099.6 F
3099.4 F
3099.2 F

3099 F

3098.8
3098.6

3098.4

3098.2 F
3098 F
3097.8 F

3097.6 F

6120

5119.5

6119

5118.5

6118

5117.5

6117

5116.5

6116

usr_coil4:cyclenum {run == 6118}

5523 5523.5 5524 5524.5 5525
cyclenum

run:cyclenum {run == 6118}

5523 5523.5 5524 5524.5 5525
cyclenum



-284.5

-285

-285.5

—-286

-286.5

-281.5

-282

-282.5

-283

-283.5

1X_coill:cyclenum {run == 6118}

5623 5623.5 5524 55245 5525

cyclenum

4eX_coill:cyclenum {run == 6118}

5523 55235 5524 5524.5 5525
cyclenum

-19

-19.5

-20.5

-38.5

-39

-39.5

-40.5

1X_coil3:cyclenum {run == 6118}

5523 5523.5 5524 5524.5 5525
cyclenum

4eX_coil3:cyclenum {run == 6118}

5523 5523.5 5524 5524.5 5525

cyclenum

1X_coll/
=

05

4ex_coll/
=

05

1X_coil7:cyclenum {run == 6118}

5523 5523.5 5524 5524.5 5525
cyclenum

4eX_coil7:cyclenum {run == 6118}

5523 5523.5 5524 5524.5 5525

cyclenum



104.8

104.6 F
104.4F

104.2F

104

103.8

103.6

103.4

103.2F
103F
102.8F

102.6 F

130

129.5

129

1285

128

4aY_coild:cyclenum {run == 6118}

5623 5623.5 5524 55245

cyclenum

4eY_coil4:cyclenum {run == 6118}

5523 55235 5524 5524.5 5525
cyclenum

[
~N
i

culo

°167.2

4av
o
~

66.8

66.6

66.4

66.2

66

65.8

65.6

65.4

65.2

14

13.8

136

13.4

13.2

13

128

12.6

4aY_coil6:cyclenum {run == 6118}

5523 5523.5 5524 5524.5 5525

cyclenum

4eY_coil6:cyclenum {run == 6118}

5523 5523.5 5524 5524.5 5525

cyclenum

4ay_coll/

4eY_coll/

[

05

1

4aY_coil7:cyclenum {run == 6118}

5523 5523.5 5524 5524.5 5525
cyclenum

4eY_coil7:cyclenum {run == 6118}

5523 5523.5 5524 5524.5 5525
cyclenum




-239.2F
-239.4
-239.6 F
-239.8F

-240F
-240.2F
-240.4
-240.6
-240.8

-241F
-241.2F

-241.4

12X_coilé

12X_coill:cyclenum {run == 6118}

5523 5523.5 5524 5524.5 5525
cyclenum

12X_coil6:cyclenum {run == 6118}

[

5523 55235 5524 5524.5 5525
cyclenum

-79.5

-80.5

[

12X_coi/

12X_coil3:cyclenum {run == 6118}

5523 5523.5 5524 5524.5 5525
cyclenum

12X_coil7:cyclenum {run == 6118}

5523 5523.5 5524 5524.5 5525
cyclenum

12X_coll4

6120

5119.5

6119

5118.5

6118

5117.5

6117

5116.5

6116

12X_coil4:cyclenum {run == 6118}

5523 5523.5 5524 5524.5 5525
cyclenum

run:cyclenum {run == 6118}

5523 5523.5 5524 5524.5 5525
cyclenum
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